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""_Dn ectl{ms (Q 11 13) Ma}k th conect synonym of dae given wmd = L

o 1 1. _-Raconteur

- A) courageous _..B) coward C) storyteller o D) rake L

12 Phlegmatic: SO

-~ UA)phoney B) composed C) misanthlope D) petty

13, Malapropos: ' : _
o A) mapplopuate : B) anoulsh C) malalse . D) mallce o

e Dlrectmns (Q 14- 16) Malk the cm rect 0pp031te of the gwen W 01d '

14, Spruce: = SRR |
e -_'A)untldy RS B) calm . ___--__C)_ sm_aﬂ_ R D) ﬂt

15, Stubby:

o A)kind 'i"B)tall   .; C)nmsY D)s1lent |
16 ~ Salubrious : - S SR

S A)salty 8 B) sweet C) dlstulbed o D) unhealthy e e

Du ectlons Q. 17-20) Malk the cory ect p1 eposxtlon to be ﬂlled in the g’tps

'17. - Eventuaily, She came round ' my views: . o

S Ayat o “B)with . " Cof 'D)to_

18, Tendulkar will go - in cricket hl_s_tory as one of the greatest batsmen.
A) over a B)ydown Cyof - D)from
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19.

20.

21.

2,

A doctor has to contend violent patients

Ayat B) of C)with - D) by

Cholera has broken in the Clt)’ L

A) out S 'B) over ' )w1th DT D) off

Whlch of the followmg commumty was acconded the mmouty status in lanualy 2014
A) Pals1 connnumty S B) Jain commumty ' :
C) Buddhist commumty D) Bohra commumty

. 'Wh hich of the followmg statements about the Naunada Kshlpla Rlvels Lml\ PleGCl is

true? -

) A) The Nalmada Kslupla R1vels L1nk Plo_leet was dedlcated to the people on Feb 25,

2014

. :"B) The Naamada Kslnpla Rwexs Lmk PlO]eCt was. dedlcated to the people on 26 |

23,

~January, 2015.

k C) The Nalmada Kshlpla RlVelS Lmk P101ect has been shelved because of

N envuonmental pioblems
D) It does not exist -

-‘ Whlch of the followmg statements Iegaldmg the lecogmtion of Tlansgendels as Thud o |
- Gender accorded by the Supreme Court, is tlue ol [ L
AT 1ansgendets are a minority commumty

. B) Tlansgendels eannot claim any specxal pllwleges as c1tlzens of Ind1a 5

C) The State . govemments have been dnected fo tleat them as somally and _
educatlonally backward classes of citizens and plowde thenl 1ese1vatlon in .

" admissions in educatlonal institutions and g govemment jobs. .

- D) Tlansgendels w1ll be 1ecogmzed as somally backwald classes of cmzens but 1o

4,

25

B
28.
29.

30.

1esewation \wll be gwen to them

. ”In the llst of elght blggest natlons of the w011d Indla is lankecl - -' SR
A) ] ﬁfth . o B) seventh C) elghth ST D) fouith

Name the bowlel whose bouncex fatally mjul ed a bulhant Austtahan batsman (who v

L dled latel on) in Austlaha 1ecently _ S
'A) Sean Abbott - B) Mlchel Johnson C) Petel Siddle D) Amn Khan

_Whlch of the following wntels was awal ded the Nobel P1 ize f01 Litelattne 2014
“A) Maz galet Atwood B) Chmua Achebe C) Allce Walke1 D) Patuck Mochano

__;Chelaw dance is pelfonned by | the tubals in: | N SR -_ : _
A) Jha;khand - 'B) Mlzmam o C) Andhla Piadesh _D) Chhatti_sgarh o

The deepest lake of the worldis: .. . . R _; s
A) Tanganyia B) Casp1an Sea C) Lhagba_P_ool o D) Lake Baikal

What was once known as Mesopotamia is now known ast - o
A) Irag . Bylran =~ C)Twkey - - . D)Syria
Which of the following countries has the longest coastline including the coastline of

its islands ? o . :
A) Australia B) China C) Canada . .D)U.S.A.
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32.

34

36

g | :.._38-.

Which one of the following countries leads in the production of tea?
A)l apan B) Sri Lanka o C) Bmzﬂ D) Indla

Which of the followmg is the most densely populated contment m the wm]d?

A) Africa -+ "B) Eulope o C) Asia " - D) South AilleliC’l

" :Whlch ])Elll of our Constltutlon enwsag,es a tlnee tlet system of Panchayats‘? :
-_A) PatlX B) PattX O Part X1 D) PaltXII
| 'Gioundnut 010p is the monopoly of o '_ AR _.
A Indonesm S B) Paklstan : :.. L "'_C)_India_ BN -_';'."D) B_at_lglade_sh e
35, - Which of the followmg, is not an 1sland‘? Sinn e | : : N
o - 'A) Icefand o B) Panama '_ C) Iteland L D) Bomeo _
_3‘Va11de Mat1a1n the mtlonal song, of India has been taken f10m Bankun Chandla :
jChattet_}ees B ' L SR
A Kapal Kundala _' B) Ana_t;d_ Math_ . ,_C) V_is_h Vr_i_ksh_a_:_D) Dt_lrgésh_ Nat_l_di_n_i_ S
3 37. _"'-Euthemcs is: R 8 .. .' Lo e
SERN '_A) the science concemed w1th nnptovmg hvmg condlttons
- B)the study of peopIe hwng muual SOCletles IR
-0 the study of the or igin of’ w01ds
. D) the study of glands S

_j':The mmdet of Atchduke Fetdmand the heu to Austuan thl one at Satajevo became |
- the mlmedtate cause of : SRR DRI R

:A) The Spamsh le Wat B) Wmld Wal - II i
- C) Cumean War = '_ S S i D) Wmld Wat mI

)
oA

43,

44,

o The place whele Mastex Comlol Fac1llty (MCF) wluch is 1esp01181ble fot all post- : - ": :
- launch operations ofINSAT satellltes ist : S EER RO
:A) Mysoae in Kamataka REREE B) Koikata m West Bengal

- C) Bangalm uin Kamataka f- D) Hassan in Kamataka S

.-.'Whlch of the followmg is not the name of a BARC 1eact01‘? :

A) Apsala B) Cncus S 0 Zetlma D) ..Dltrga_ o
_. ;All Indla Instltute of Speech aud Heaung is Sltuated in: o '. T L
- '_A) Kolkata B Almledabad _' C) Mysme SRR D) Chennai
-EFust womanjudge of Supleme Comt was o S S : ; " . SR
o A) Anna Chandy _ B) M. Fathlma Bee\fl C) Lella Seth " D) Dina Vakil
Fust Speafxet ofLokSabhawaS Sl SR RN
- - A)G.V.Mavlankar S - B)C. Raja_gopal_z_t_c_har_i B
0 Mastet Tala Smgh E D) Ab_ul 'Kal_z_xt_n_ Azad_ s
Ina Saka yeat, Phal gun is the .' ' SRR o
A) first month of the year. B) second month of the yeal
C) last month of the year - D) seventh month of the year

45,

The name of the Indian submat ine that met w1th a mtshap on Febl ualy 26 2014 off

the Mumbai harbour is
A) INS Kaveri B) INS _Tapti C) INS Sindl_lu_ratna D) INS Khukri
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40.

47

_ __How marny spokes are there in the wheel of the natlonal ﬂag of Indla ‘? _
_'_Alea -wise the latgest palllamental y conshtuencyr in Indla is o RO
R ___'A) Ladakh _' B) Baunel C) Mandl ERA __j D) Bastal o
::'Congiess in the yeal 1942‘? L SRR
“A) 1B, Kllplaau O B) Jawahailal Nelnu e

By whom the “th Indla” lesolutlon was moved 111 {he Bombay Sessmn of the .

o ;'_-'C) Mahatma Gandhl : :' '1 D) Rajendla PiaS’ld

o In w}uch of the followmg sessmns of Indlan Natlomi Congless Mahahna Gandhl : B
- said, “Gandhl may die but Gahdhlsm \wll 1emam fonevel ' o

" A) Karachi Session, 1931 S B) Calcutta Sessaon 1928 A
0 Madlas Sessmn 1927 G -_ = D) Lahole Sessmn 1929 -

Who of the followmg had pleaded ﬁom ihe sude of Indxan Natlonal Almy ofﬁcels m_. S i

' their Red Fonmal‘? -

o —nmmn - mmnn -'mnn m =i

S _:___A) C.R. Das B) Motalal Nehlu ':'C)_ M.A._Ji_n_hah:_ﬁ D) SnTBSaplu e i R
B A) dmv B B) mve ': C) ova - D) qu R

"'Complete the seues

Complete the senes S

'----‘.A)nmmn B)mnnm C)nnmm D)nmnm

- : }.53.; ._ ..

s Repiace the question ma1k (’P) ﬁom the gwen altematwes that has Same 1elatlonshlp RS S

“~as first two words have.’ _
'3"'_3Vene: ate : Wm slup 3 Extol

s

FERRAN 129 means good pICtUlES ale faint’. What is code f01 see *? L
LA B2 08 Dy

| "A) gloufy D -B) 11omage 5 .__C)' comphment r.-D_) 1ecommend S

_ ~Find out the odd one : R U

N k”lg ll) queen '111) blshop i) ministei v) kmght ik
S '.-_A) l) ' B) 11) C) m) D) lV) .

.In a celtam code COVALFNT ]S wutten as BWPDUOF M and FORM 1s wutten as_ & -

L "-fPGNS How vﬂl SILVER be wntten in that code? - et
"-:-;A) MJTUDQ B) KHRSFW (:) MJIWFS D) MJTSFW e

Ina cer tam code ‘134’ means good and tasty’ ‘478’ means ‘see good plctmes and o

Find the dnffelent one ﬁom the glven4 altematwes [ S

~ DADBEC i) FIGIH i) KNLOM iv) PRTSQ | .
' -_.'A) 1) B) 11) :- | C) 111) ‘ D) w)

e

_A man S‘lld toa lady “Yom mothel s husband s 31ste1 is my aunt How is the lady R

related to the man? : SRR R
A) daughter B) gra_nd-da_u_ghter ;.C) mot_her S ."-_'D_) siste_r__ RS
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59.

Shobha is the niece of Ashish. Ashish’s mothez is Priya. Kamla is Priya’s mothe1
Kamla s husband 1s Hau Kushna is mothel -in- iaw of Ha11 HOW Shobha 1s telated
to Hari? - :

_ '.'A) daughtet B) gleat giand daughtel o
o C) gland mece i i D) gteat é,landson s daughtel DR

7 people A B C, D E F and G ate standmg in a 10w facmg nouh E is somewhexe L o
R _ahead of F.. Exactiy one petson is standmgD between C and G Diis mlmedlateiy_ i AR
; behmd A, F is behind both B and D. If D and C. ale 4“‘- and 5 th 1espect1vely in lme R

S ."then whtch of the foilowmg 1s deﬁmtely ttue‘? LT
M)A, R ~B)Bis1¥ C) I is 6m : D) F is 7"‘
SEEEEE _than B C is 1ess mtelhgent than D. Bis less mtelhgent than C and A 1s 11101e e

5 chtldlen we:e tested for. then mtellzgence It was found that A is less mtelhgent

= j_.i'.'-mtelhgent than E Who is the most mtelhgent ehlld‘? 3 S

L Study the folfowmg mfmmatlon and answet the questlon (l) In a fanniy of 6 pelsons EREES
< there are people from three gener ations. ]:ach person has sepatate plofessmn and likes =~
_-dtffetent colour, Theie are two couples in the family; (ii) Rohan is CA and his wifeis =~ -
" neither a ‘doctor nor likes gleen colour; (iii) Engmeel likes 1ed and his \Vlfe isa
. teacher; (iv) Mohml is mother-in-law of Sunita and she likes 01ange coloul (W) Vmod S
'_ is glandfathet of Tamnay and Tanmay who isa pun(np'tl hkes black c010u1 (vi) Nanu -

i is glanddaughtel of Mohml -and she hkes blue colom Nanu s mothet hkes wlnte B

' "__-'H0w many ladles ale in the group" =

Y _'A) 2 i B)3 '_:Z_ | C)4 Sn D) cannot be detenmned

3 A man waEks ?.Om towalds East and tmns to South and walks IOm Then ite walks _' s ;
o -35m towalds the West and fmthet 5m towalds the Nm th. He then tm ns towalds East L
- and wafks ISm What is the stlalght dtstance between mma! and f'mal pomts'? i

A)tSm . Bim C) om . Dsm

On a squate plece of plot 4 pelsons A B C D axe stationed as shown in the Fig
: e _.:_A SR ' ' '

5 'B and D move one and half length of 31des cIock wtse and ant1 clockmse 0

o :.'1espectlvely Whtch one of the followmg statement is ttue'? '
“A) Band D are both at mld—pomt between A and C . S

| . B) Di Is at mid- pomt between A and C and Bi is at 001 ner dlagonally opposHe to C
' -C) B is at the nnd-pomt between A 'lnd C dlld D is at tlle corner 011g1nally oecupled -

D) B and D both are at nnd pomt between A 'md D o
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05.

66,

67,

Study the Fig. and information

- Circle represents college professors
— Triangle represents sur gical specialist
- Rectang]e represents medical spemallst

C repr esents “hat ? 8_ 2
A) niedical speeialists RS B) college piofessms S
O smglcal specialists ' D) nledlcal and su1glcai speelahsts

Suppose in Engllsll alphabets evely fountll lettel is leplaced by * whteh of the |

following would be ’}’lh to the left of the 14"' element from the left . _
NG BmE . OT 5*...Dv;
~Study the followmg auangement and answer lhe questlon _ " T
 2PJ@8SLBIVHQ6-GWIKCD3+.e +5FR7AY 4
- Four of the following 5 are snmla: in 1elatmn to thcn posmons in above auangement
"."One is different, Find that NSRRI o

"-_.'1) QKS 11)L6D nl)PL— - v)lG+ - V)K 4 |

69,

o
SRR 'cnculal table faemg centre, if -

A D)) 111) o w) | D) v

_ _'Aman is 16']' ﬁom left end i in a row of boys and V;vek is 18“ ﬁom the ught end
‘Gagan is II']' flom Aman 1owalds the nght and 3"I ﬁom Vlvek towalds ught end.
; __-Howmany boys alethele in the 10\\"? RIS R Sl R
A3 B4 ;';.‘.C)_'40 SORE -ff-lD)41 RN
E Inseltthe mlssmg numbel TR

':A)l B)26 - C)39 D)45 o

Whe is smmg to the nnmedlate ught of Tamsha among ﬁve fnends sHtmg alound a. |

R 1) Ayesha is smmg ehactly between Kanak and Sneha and Raj is sntmg, to the

_ immediate right of Sneha. -

o _ '-:11) Tamsha is Slttmg exactly between Kanak and Ra_l and Ayesha is sntmg to the

rmmediate right of Kanak

. A)Kamak B)Ayesha o .__c) s_neha_' e _'D)R__aj_ ol
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Directions: On the hasis of the following information’s, answer Q No. 71
i) Candldates appealed 10500
i) Passed i in all 5 subjects : 5685
i) Passed i in 3 subjects only : 1498
L iv) '_-'Passed m 2 subjects only : 1250 '
V) :'Passed 1n 1 subjects only : 835
'_\_*i) _' atled n Enghsh only 78 '
- vii) Fa1led in Maths only 1275
) vii) Failed in Physws only ! ]49 B L KA
ix) _Falled in Chennstty only : 147 . S
= -_x) . ".Fa1led in Blology only'221 B

- 1L '_How many candtdates passed in atleast fom subjects '? _' " I_ : s
A) 6555 '_ B) 5685 C) 1705 D) 870

S 72, ':"A dlce tlnown fom tnnes and 1ts fotn dlffelent posmons ane shown below Fll‘ld the - g

S numbe: on the face opposne to the face showmg 2.

 f_m3 Tf_uf B4 rfaiiFQSJ ?3 mﬁ
L 73 : W hat 1s the least numbel when dlwded by 12 }eaves a 1ema1nde1 of 7 when diwded

. by 15 leaves a 1enla1ndel of 10 and when dmded by 16 leaves a 1emamde; of 1 1‘? IR

A 1s o - B)235 C) 247 D) 475
- 74, The avel age of 8 numbezs is 20 that of f'nst two 1s 15 3 and that of the nest thlee 1s . -.
o o 215 ! the 6"‘ is less than 7"' by 4 and 7 less than 8"‘ l‘ he last numbet is oo L

'-_.A)35 B)32 'j_ C)28 D)25

L 75, 'The sum of ages of a fathe1 and his son is 100 yea;s now Flve yeats ago then ages _ '_ SR

. ' ._.wete in the lﬁth of 2 l The latlo of the ages | of fathel and son aftel 10 yeats w11l be :
CAY43 B) 53 - g O3 j D) 10: 7

76. 'A student who scores 20% ma1ks ina test and fa1ls by 30 malks Anothel student .

. who secures 32% 111a1ks get 42 nlalks mo1e than those 1equned to pass Pass_
'__pelcentage ofmatks s i S = CUL
"A) 25% “B): 28% L C) 30% D)33% R
77, Mul\esh pluchased 40 kg of wheat at Rs 12.50 pel kg and 25 kg of ‘wheat at Rs. lS 10_
per kg. He nnsed the two quaht1es of wheat f01 selhng At what rate shou]d he sell i
to gain 10%? o o ' ' '
A) Rs.13.25 per kg B) Rs_.l3.50 per kg
CyRs.14.75 perkg . ' D} Rs.14.85 per kg
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78.

o

The ratio of the rates of flow of water in pipes varies inversely as the square of the
radius of the pipe. The ratio of the rates of flow in two plpes of dlametels 2 cm and 4
cm is _ S '

A2 0 B2l 4 1 ST D) 1 g

A Is working pa;tnel and B a sleeping pa1tne1 ina busmess A Jnvests Rs.12000 and

‘B Rs.20000. A receives 10% of ploﬁt for managmg, the 1est belng lelded in
__-plop01t10n of then capltals Out of total ploﬁt of Rs 18000 the money lecelved by A o

JS

U A)Rs, 6480 B) Rs. 8400 e C) Rs. 7575 '. . D) Rs 8325
80, -
i “work togethel for 5 days and the rest of wmk is done by Cin2 days If they get o
- “Rs.,4500 for whole work, how should they d1v1de the money‘? .
- A) A’s share Rs.2250, B’s share Rs.1500, C’s share Rs. 750
: 'B) A’s shale Rs.1500, B’ 'S shale Rs.750, C’s shale Rs. 2250

A and B can do a plece of work i m 10 days wlnle B alone can do itin 15 days They

C) A’ S slaale Rs, 750 B s share Rs 2250 C S shane Rs 1500

| D) none of these o

81,

8.

: A tap can ﬁil a t'lnk in 6 lns Aftet half the tank 1s f Iled thlee mole snmla1 taps ale', '
R opened What is the total time taken to ﬁil the tank completely‘? RRTRIRY RN
.'_A) 3 lns 15 nnn _' B) 3 hIS 45 nnn C) 4 lns T D) 4 lns 15 min

A boy is uunnng at a speed of p km/ln to covel a dlstance of 1 km But due to .
- slippery glound hls speed is 1educed by q km/hl (p>q) If he takes T lns to cove1 the. R
~ distance then Gl S S o

E {'.'.A) 1—(p+q) B)l -(p q) i __'Cj .1:(;5%4) 5 D) —'m(p o8

83,

8s.

86.

87.

- -A ’uam 270111 long is movmg ata speed of 25 km/ln It wnll c1oss a man connng ﬁom '_ SRR

opposne dnectton ata speed of 2km/ln in

o _A) 36 seconds B) 32 seconds C) 28 seconds o D) 24 Seconds it o

A boat 1unmng downstleam covers a dtstance of 10 km in 2 lns _Whlle commg back L
R “upstream it takes 5 lns to covel the same dlstance If thc speed of the cunent is 1.5

e km/ln what is the speed of boat in stlll watel'? SRS 5y
: :_A) 2 km/ln . ﬁ B B) 2 8 km/ln I C) 4 km/ o D) 4 2 km/ln

' _One quahty of wheat at Rs 9, 30 pe1 kg, lS nm.ed wnh anothen quahty at a certain tate. R
i the ratio 8:7. If the mixture so formed be wmth Rs 10 pel kg What is the rate per e

kg ofthe second quahty of wheat'7 R S
"_A)Rs]030 ' B)Rle60 C)RSIOSO N D)Rsl]

A sum of Rs 5000 was lent pa1 tly at 6% and paltly at 9% snnple mtelest If the total

annual interest be Rs 390, the ratio in wlnch the money was ient at gwen rates is
AYLL B2 C)23 D)32

A sum amounts to Rs. 2916 in 2 yeals and Rs. 3149 28 in 3 yeats at compound_

interest. The sum is - n L
A) Rs. 1500 B) Rs. _2_000 O) Rs.3000 : -D) Rs.25_0_0
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88,  The length of a iectangle is twice its breadth, If its length is decreased by 5 cm and
bleadlh is incr eased by S cm, the area of the 1ectangle is increased by 75 (:1112 The

length ofthe_leetangle is: . o o o
'A)SOCIn S B)40cm . C)300m D)200m -

89 : ._.'-The 1ad1us of the base of a metalhc cone is 3 cm, lts helght is 5 em It is meIted and_
o '__3mouided into snmil eoncs eaoh of helght ] cm and base ladlus imm How many sueh _

. cones are fonned‘? i RO SRR
' _A)13500 S B)4500 C)1350 L D)450 "

9. A watch wlnch galns umfounly is 2 mmutes slow at noon on Monday and is 4
R ;mmutes 48 seconds fast at2 p.m. on the followmg Monday When was 1t couect‘?

o A)2p.m. on Tuesday B)2 p.m. on Wednesday -~ *7
o '-_--C)3 pm.on Thu;sday : {)) 1 pm on Fnday SRS
91 S IPV4 addless 18___;___bxts Iong - B S 33
CoooAMIs B c) 2 o D) 16
S92 Whlch of the fo]lowmg opeiatmg systenl is avallable in ﬁee/open source domaln‘? S
R ; 2 A) MaC OS S B) S{IN SOlallS § C) WlndO\VS XP D) LHIU}\ ;
93 Most nnpmtant dlffelence in the pelfounanee between maln memol y and seeondaly _ '_

memory is: g R
. A) . Power consumptlon : N e
B) ‘Most secondar 'y stmage dewces are too blg to ﬁt into the CPU

C) Secondaly storage is mostly bi-state, but main memoty is mostiy tu state S
_ : __D) Speed of access; secondaly stmag,e IS much slower L e E
% _'Communlcatlon between a computer and a keyboald nlvolves - tl'ansm'iss'ion ol
L A) Snnplex o B) Half-dupleh C) Full- duplex LoDy Automatlc RS
: ':95 cocAll of the followmg are used f01 commumeatlon and coilaboiatlon done in 1ea] tnne_ : =
EXCEPT: -~ . 0 BRI _ :
- _A) bloggmg _ B) webmals L C) 1nstant messaglng D) VoIP

96 ._An attempt to slow down or stop a eompute1 system or netwmk by ﬂoodlng, the
R system w1th 1equests f01 mfonnahon iscalleda '

A) vuus B) wonn j_ -C) deniai of—selwce atiack T D) T_ro.la_n ]_101_'_se '_ |
97 Which of the followmg is not haldwale : S L SRS RSN
A) Hard-disk . B) RAM RIS )Pmcesscn o D) MS Ofﬁce o
- 98 - The web blowsel S il keeps a hst of web pages that a use1 VISIted dunng : i
TR celtalntnnepenod SE R s
A) Hlstmy B) Cache SETRAR --_C) _Fav_o_:_'ltes Lo D) Bookmalk

' "99__ W hat does a lock P »-symbol mean in the addless bal of a web blowsel'? .
. A) It shows that current URL is locked, * 0 ST
Bt mdlcates that the identity of URL p1 oved by some thnd pa1 ty
Q) Itjusta glaphlcal symbol. " L
D) [t indicates that URL is a fake link..

100 Itis e\pected that Cloud Computing w11] ieplace whlch of the followmg'? -
A) Expensive Personal Hardware B) Expensive Personal Soft\_\{a_ie
C)BothA)andB) -+ D) None of the Above :
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Ans.

Q.No,

76

77
78

7
.80

81
82

83

84

E

88

89
.90

o

Ton
94

95
96

97

98
99

100

Ans.

Q.No.

5]

53

54

- 55

B

59

60

o
62

64

o

67

: 69

e A I

Ty

74

75

Ans.

Q.No.
26

27

28

29

30 .

3]
Y)

33

35
36

=
39

40

P

42
44
T4

46

47

48

49 -

50

Ans.

Q.No.

10

11

12

13
14

15
16
17

18

20
21

2
23

24

.25







